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Note : There are three sections A, B and C in the paper.
(i) QT TH T GEIT 1 % g1 10 YT % IR T | TAF 9T O 3% B8 G
G 10 9T TGI8 THR S T & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(i) Q7T & & 8 IwA H 8 o 6 3 & IR T | Y% T9 3 HF FTETT
3T 5 ST3/50 Vgl 7 IR T |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) Q7T % 6 5o 7 @ el 4 Fo & I Y | TF T 8 3 HI 8 T
§7%7 15 157/150 91sg] 7 FT GHor |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) TE% QI & G J91 Bl FHEGR T T § Bilord |

Solve all the questions of a section consecutively together.
(vi) QT aTIaT 7 7R 817 %1 R 7 S 3G & A 8

Only English version is valid in case of difference in both the languages.

YE — T
SECTION - A
1. () P a s C o o asfiv dEs § Ta iR ?
Which of the following is used to translate a C program into machine language ?
(a) Editor (b) Compiler
(¢) Operating System (d) Assembler
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(ii)

(iii)

(iv)

)

(vi)

(vii)

ST < FeaTe o R 2T o B WA g 7

Who holds the data during program execution ?

(a) Keywords (b) Tokens

(c) Variables (d) None of these
e -aRuTy s1ee shaerd ¢ |

Pre-defined words are known as :

(a) Keywords (b) Tokens

(c) Variables (d) None of these

C WTY1 2 m-+=4; Tohereh Tuge & 2

The C language statement m+=4; is equivalent to :
(a) m=m+4; (b) m+4=m;
(c) m=4; (d) m=4+4;

Ife W age[]={21,19,20,18,17} TR &, a1 age[3] & w1 @R 20T 2

If array is declared and initialized as age[]={21,19,20,18,17}; then what will store in

age[3]?
(2 17 (b) 18
(© 21 (d 19

TS 1§ Bl 3T 3719 %1 &) hicT HLal 2 dl 30 Had 8
When a function calls itself, it is known as

(a) Recursion (b) Looping
(¢) Branching (d) Jumping

CWﬁarrayindexﬁb‘H’@m@ﬁT% ?

In C language, array index starts with
(@ -l (b) 0
© 1 @ 2

(viil) C WTNT % switch % H default case %a Fomfe BT 72

(a) 9 IR cases T &I | (b) 9 TH G Ifren cases 9T & |
(c) & TH T M cases 3G & | (d) I9dR cases & & |
Default case of switch statements gets executed when :

(a) all cases are true. (b) more than one cases are true.
(c) more than one cases are false. (d) all cases are false.
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(ix) C WIS S T STh 49% 8 & T-Isure T gToTs o= 2y 7

What will be result of evaluation of the expression 49% 8 in C Language ?

(a) 8 b) 5
() 6 (d 1

(x) CWTNT & S 9T Bitwise HohTeh Ta & ?

Which is not a Bitwise operator in C language ?

() && b &

() << @ |
Y — &t
SECTION - B

o aTfehe sstenl o W 71 IR A 2=5,6=10 3 =6 -

Determine the value of following logical expression if a=5, b=10 and c=—6 :

(a) (a>b) && (a<c)
(b) (a<b) && (a>c)
(¢) (a==c)||(b>a)

C o7 H TR U RATEAR ?
What is nested loop in C language ?

C W91 8 ++a 3N a++ T TR §aq8 |

What is the difference between ++a and a++ in C language ?

C W91 ¥ Call by Value 37X Call by Reference H &1 3TcR & 7
What is the difference between Call by Value and Call by Reference ?

Recursion 1 gldT 8 ? 3EW SINE |

What is Recursion ? Give example.

VAR 7 C A A R A F TR A 3 2 2

What is an array ? How to initialize one dimensional array in C language ?
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8.

10.

11.

12;

13.

14.

15.

<l quTter T3t H Sl T ST ¥ C Wit A s Rl |

Write a C program to print largest of two integer numbers.

C WTYT # for &9 T Teh ITeX0T fAfaw |

Write an example of for loop in C language.

QA -
SECTION - C
ieeT FifesT & o1 aTeqd B ¢ ges faf= e fafu |

What is meant by problem solving ? Write different steps of problem solving.

C T & ST 6T ST o SURER IETE S T |

Describe the structure of C program by giving a suitable example.

Recursion 1 gIdT 8 ?wmww&mmm%gcwﬁm%ﬁaq |

What is Recursion ? Write a C program to find factorial of a number using recursion.

C vt o fafir= unfomattedﬂﬁtwmﬁm l

Explain various unformatted input output functions in C language.

C WIS H 1 & 100 T I g9 G v 3 o s fafaa |

Write a C program that prints even numbers from 1 to 100.

SUGHI ISTE S switch-case T 1 HRITUTEA T Tz |

Explain the working of switch-case statement with a suitable example.
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